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i (rejected) suggestion: because dispatcher didn’t tell n'9w to be his witness
1 rejection: as long as they see it, they are witnesses (except for nxmn »p)
ii  rather:
1 27 since he knows the issue so well (he is the n'5w), we accept his testimony
2 RYW 17: since yMNI DR YV 1MV - he can't testify regarding himself
iii challenge (to 27): dispute n"2/w"1 if 3 are sent for pW17Tp, whether 2 can testify (v”2)
1 implication: if only two are sent, there is no mTy (since one must be a 1°>w and 7Y NYYI MYV PR)
2 defense: he reads dispute as does 111 1 — 'R T MYV are valid according to v”a
(a) challenge: does 21 rule like w”2?
(b) Answer: he inverts the ruling — w"a are stringent and n”a allow T mYw
(c) Note: there is a version of the dispute 8% 17271 which is inverted; 171 holds T» nw1 NSW PR
(i) Final ruling: 7y nwy1 Y
(if) Application (ypn273) : POITP WYY may be pPWITP »1Y; also in re: PWII and Mnnn
1. justification:
a. if we only knew the rule in re: pwy1'p, X”10 since that forbids her
i.  however: in re: w13, we may think the m%w desires her (and is lying)
b. and if: we only knew the rule in re: w1, R"10 since 2 cannot marry her
i.  however: in re: mnnn, they may have colluded and will split the proceeds — 5"np
2. note: 31 must hold if someone lends money in front of B>y, he needn’t pay back in front of o1y
a. and: since they’d be believed to say they returned the money to their dispatcher (n9)
i.  therefore: they’re believed to say that they paid the nmYn (1n)
b.  practical ruling: now that 13121 established no’n n»aw (for full denial of debt)
i.  the witnesses: swear that they paid the nmYn
ii.  the mbm swears that he didn’t receive the money
iii. and: the nY has to pay the n1on
I Analysis of final clause of the mwn — father accepting 1w 1’p on behalf of hig daughter who is a N
a  Associated ruling: 221 pv) mwn — dispute between mnan/nmin’ 1 if a N1 may also accept her va ("1 — only father)
i 9":same dispute holds in re pwviTp
ii NP '7: even panagree that only father can accept pwvITp
1 xyan 1’0 7 77's reason (for 1127): in PWITP, she is leaving father’s domain, requires his ny7
(a) Challenge: 1rn takes her out of father’s domain, and N7y may accept 1nrn alone
2 Rather: pv11p requires her consent, therefore we require father’s nyT
(a) Challenge: anRn requires ny7T and she can perform 1nxn alone
(b) Answer: follows 727, who doesn’t require her consent for anrn
(i) Dispute: 221 infers Inxn from nNN1’T NR’2 — no need for consent
1. 227 infer RN from PVITP
(if) note: supported by end of statement of 1RN — PYVITPR 19 PRY NN
1. 5”1 reads that mywn as authored by nmn’ "3 (as per 2:1 v3); mentions "1y as per context
a. explanation: InRn is unique (for nT ") since there is already a np’t
i.  note: this argument could be used to explain j1nv "1 above ( [1 a], [2 a])
iii  challenge (to 5”): from our Mwn - only father can accept PVITP
1 answer: our mwn is authored by nmn’ "
(a) challenge: N "3 cannot accept later ruling in our chapter about V19 (need to specify each woman)
(i) answer: our Mmwn is v", who agrees with nT? 1 in re: inability of N1 to accept her own pwvITR
iv  final ruling>oRk "1 was told by &1 1 that all of 1301 *7’s students ruled like him — %" protests (v. 1) were ignored
1 final note: reporter was PaRr "1 (sans patronym)
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